

Quotation # UTE07386



Future Client, Inc. 123 Success Street Ridgway PA 15853 **United States**

Your Reference 2026 RAPID DEPLOYMENT SILVERADO -

Quotation Date 09/11/2025

Expiration 10/11/2025 Salesperson Joe Manno

Estimate Type Vehicle + Upfit

SLICKTOP Account Manager

Joe (814) 594-3167

Inventory Manager Daulton (412) 636-6056 **Shop Manager** Jarrod (412) 707-7281

Line No.

Image

Description

Black)

Quantity Unit Price

Amount

VEHICLE

1



[24SILPPV-BLACK] 2024 Chevy Silverado Police (PPV,

1.00 Units 51,999.00 \$51,999.00

Cooperative Contract: State

Subtotal \$ 51,999.00

CONSOLE

2

[C-VSW-1900-SILV-PM-2] Havis Consoles (2019+ Silverado 1500, Printer Mount, Standard Steel)

1.00 Units

967.56

\$ 967.56



3		[C-ARM-102] Havis Arm Rests (Side Mount)	1.00 Units	67.98	\$ 67.98
4		[CUP2-1001] Havis Cup Holders (Removable Internal)	1.00 Units	46.20	\$ 46.20
5	Ţ	[C-HDM-224] Havis Dock Mounts (2019+ Silverado 1500, Console Mount)	1.00 Units	127.38	\$ 127.38
6		[C-MD-119] Havis Dock Mounts (2019+ Silverado 1500, Motion Device)	1.00 Units	250.14	\$ 250.14
7		[C-MCB] Havis Mic Clip Bracket (Standard)	2.00 Units	13.20	\$ 26.40
8	MAGNETIC MIC	[MMSU-1] Magnetic Mic	2.00 Units	26.40	\$ 52.80
9		PA Labor (Console)	4.00 Hours	124.00	\$ 496.00
				Subtotal	\$ 2,034.46
PART	ITION				



10		[35-2221352] Westin Prisoner Transport (2019+ Silverado 1500, Single Prisoner Transport System)	1.00 Units	613.97	\$ 613.97
11		[35-18135] Westin Prisoner Transport (2019+ Silverado 1500, Steel Cargo Barrier)	1.00 Units	151.89	\$ 151.89
12	SC-928-9-5-5 had flowed Apt Gur Bed	[SC-920-5] SantaCruz Gun Locks (Single Gun Partition Mount, Handcuff)	1.00 Units	257.39	\$ 257.39
13	3	PA Labor (Transport System)	12.00 Hours	124.00	\$ 1,488.00
				Subtotal	\$ 2,511.25
SIREN	N CONTROLLER			Subtotal	\$ 2,511.25
SIREN 14	N CONTROLLER	[ENGSA5200RSR] SoundOff Smart Siren/Controller (200 Watt, Remote Mount, Rotary Knob)	1.00 Units	Subtotal 688.80	\$ 2,511.25 \$ 688.80
	N CONTROLLER	[ENGSA5200RSR] SoundOff Smart Siren/Controller	1.00 Units 1.00 Units		



17		[ETSSVBK02] SoundOff Speaker Brackets (2019+ Silverado 1500, Drivers Side)	1.00 Units	22.60	\$ 22.60
18		PA Labor (Wiring + Electronics)	12.00 Hours	124.00	\$ 1,488.00
				Subtotal	\$ 2,629.89
LIGH	TING				
19		[ENFWB01K17] SoundOff Interior Lightbar (2019+ Silverado 1500, Full Windshield, Red/Blue)	1.00 Units	731.85	\$ 731.85
20		[EMPS2001P-8] SoundOff Surface Mount (4" mPower, Red/Blue/White, Stud Mount, Standard (5-Wire), Clear) (2) Mounted in the front of the grille	2.00 Units	123.48	\$ 246.96
21		[ENT2B3RBW] SoundOff Mirror Light (Under Mirror (Puck), Red/Blue/White) (2) Mounted under the mirrors	2.00 Units	168.15	\$ 336.30
22		[EMPTC01NPG] SoundOff Traffic Advisor (8-Module, Red/Blue/Amber, Clear)	1.00 Units	785.66	\$ 785.66



Quotation # UTE07386

23



[EMPS2001P-6] SoundOff Surface Mount (4" mPower, Red/Blue/Amber, Stud Mount, Standard (5-Wire), Clear) (6) Mounted on or under the tailgate

6.00 Units

123.48

\$ 740.88

24		PA Labor (Lighting)	14.00 Hours	124.00	\$ 1,736.00
				Subtotal	\$ 4,577.65
OTHE	R				
25		[MB820] Antenna Mounts (No Connector)	1.00 Units	20.64	\$ 20.64

26	S	PA Labor (Customer Supplied Equipment) - Radio	1.00 Hours	124.00	\$ 124.00

Subtotal \$ 144.64

UtiliHarness 2.0

UtiliHarness is our in-house custom built wiring system is made from braided loom, color coded wiring, dedicated constant and ignition fuse blocks, and labeled termination all grouped into your MyUtilitac portal allowing for a lifetime of easy additions, diagnostics, and repairs to your aftermarket equipment.



28		[5015B] Fuse Block	1.00 Units	100.00	\$ 100.00
29		[7618B] Ignition Relay / Timer	1.00 Units	100.00	\$ 100.00
30		[5015B] Fuse Block	1.00 Units	100.00	\$ 100.00
31		[2012B] Ground Block	1.00 Units	100.00	\$ 100.00
32	(FEGIS 150)	[4703-150B] Circuit Breaker (150 Amp)	1.00 Units	100.00	\$ 100.00
33		[DS-HD10-BLK] Scanstrut Cable Seal (2 Pass Through)	1.00 Units	100.00	\$ 100.00
				Subtotal	\$ 600.00
34		Standard delivery	1.00 Units	450.00	\$ 450.00



Quotation # UTE07386

35



Discount (PA)
Rapid Deployment Discount

1.00 Units -446.90 \$ -446.90

Untaxed Amount	\$ 64,499.99
Taxes	\$ 0.00
Total	\$ 64,499.99

Terms & Conditions

To approve, please click accept or sign and return. By approving you are agreeing to all the terms below.

- Payment: Unless otherwise specified, account terms require vehicles to be paid NET30 upon acceptance of the proposal and the remainder of the proposal is to be paid NET30 immediately following completion of scheduled work.
- Limitations: This is a proposal valid for only 30 days. Truck chassis must come ready to accept the body and any additional work or modifications will be barred by the customer. Additional shipping charges not listed on the proposal may incur.
- **Contracts:** If applicable to this project, National BuyBoard Contract # 698-23 or PA COSTARS contract #012-E22-242 / #025-E22-476 applies.
- Fees: Custom orders can not be canceled or returned. Cancellation fee of an approved quote is 5% of the total cost. If the manufacturer charges a restocking fee for any items, the customer is responsible for charges. No returns on any items after 30 days.

Payment terms: 30 Days